SO GIAO DUC VA PAO TAO DE THI THU TIENG ANH VAO LOP 10 THPT
- ” NAM HQC: 2014 — 2015
PE THI SO 10-18 e ‘
[ ] Thoi gian: 60 phut (khong ké thoi gian phat dé)

(Pé thi gom 02 trang)

HOoVaten:....ooooiiiii e Loi dgn thi sinh: Thi sinh lam bai tryc tiép vao dé thi nay.
L('}p S6 bao danh Thi sinh khéng dwoc sir dung bat cir tai lidu nao ké ca tir dién.
Diém Giam khao Giam thi 1 Giam thij 2

(1-3) Choose the word whose underlined part is pronounced differently from that of the others: (1.5 pts)

1. A. lie B. height C. weight D. pie
2. A. fat B. cat C. table D. sat
3. A. hit B. tide C. sit D. did
(4 — 13) Choose the word or phrase (A, B, C or D) that best fits the blank space in each sentence:
(5 pts)
4. The children are playing in the schoolyard.

A. happy B. happiness C. happier D. happily
5. She took lesson to learn how the violin.

A. plays B. to play C. playing D. played
6. I look forward to you

A. sees B. to see C. seeing D. saw
7. He agreed the job as soon as possible.

A. starts B. starting C. to start D. to be started.

8. Ann’s birthday is February 14th.

A.in B. on C. for D. at
9. After the clothes , we can wear them to your birthday party.

A. washing B. wash C. washed D. are washed
10. The Internet has developed and become part of our everyday life.

A. increased B. increasing C. increasingly D. increases
11. How many people took part the contest?

A.in B. from C. with D. to
12. You will not pass the exam working harder.

A. unless B. if C. without D. although
13. Mr Dung said he 35 the following week.

A. was B.is C. will be D. would be

(14 — 16) Choose the underlined word or phrase (A, B, C or D) that needs correcting: (1.5 pts)
14. I’'m disappoint that people have spoiled this area.
A B C D
15. If Ba will come here tomorrow, I’ll phone you.
A B C D
16. We saw beautifully girls there yesterday.
A B C D

(17 — 24) Choose the word or phrase (A, B, C, D) that best fits the blank space in the following
passage:(4 pts)

THE ROCKIES

1



The Rockies Mountains run almost the length of North America. They start in the North —

West, but lie only on a (17) hundred miles from the center in more southern areas.
Although the Rockies are smaller (18) the Alps, they are no less wonderful. There are
many roads across the Rockies, (19) the best way to see them is to (20) by train.
You start in Vancouver, (21) most attractive of Canada’s big cities. Standing with its feet
in the water and its head in the mountains, this city allows its residents to ski on slopes just 15
minutes by car from the city (22) . Thirty passenger trains a day used to (23) off
from Vancouver on the cross-continent railway. Now there are just three a week, but the ride is still
a great adventure. You sleep on board, (24) is fun, but travel through some of the best
scenery at night.

17. A. many B. lot C. few D. couple

18. A. from B. to C. as D. than

19. A. but B. because C. unless D. since

20. A. drive B. travel C. ride D. pass

21.A.a B. one C. the D. its

22. A. centre B. circle C. middle D. heart

23. A. leave B. get C. take D. set

24. A. when B. which C. who D. where

(25 — 28) Supply the correct form of the words in parentheses to complete the sentences. (2 pts)
25. I spend my in the country. (child)

26. Have you got any for our trouble? (suggest)
27. Relax in our chairs and enjoy our excellent tea and hot chocolate. (comfort)
28. Our from London to Sydney took 24 hours. (fly)

(29 — 32) Read the text and decide whether the following statements are True (T) or False (F) (2
pts)

At six o’clock yesterday evening, the River Thames burst its banks and flooded a wide
area. By nine o’clock the floods had reached the town of Dorchester. The main street was soon
under 3 feet of water. Fire engines arrived quickly to pump away the water, but heavy rain made
their jobs very difficult. The rain has finally stopped, the river level is falling and the weather
forecast is good, but the floods have caused extensive damage. Luckily, nobody was hurt or injured.

Statements T F

29. The floods hit the town of Dorchester.

30. Fire engines had no difficulty in pumping away the water.

31. The floods have caused enormous damage

32. A large number of people were hurt.

(33 — 36) Complete the second sentences in such a way that it means the same as the original
one.( 4 pts)

33. When did you last phone him?

el = (0 (o) VPSPPSR ?

34. I’'m sorry that I didn’t go to the party last Sunday.

T L WASHL 1ttt st

35. He will die soon if they don’t bring him to the hospital.

T2 TUTNIESS ottt e ettt et e e st e st e e st eesaaae e

36. The blue car is more expensive than the red one.

= THE T€A CAT TSI ..eeeiiiiieiit ettt ettt e et e e st e st e e st eesaabeee s
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HOoVaten:....ooooiiiii e Loi dgn thi sinh: Thi sinh lam bai tryc tiép vao dé thi nay.
L(';'p S 6 bio danh Thi sinh khong dwoc sv dung bat cur tai liéu nao ké ca tr dién.
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(1-3) Choose the word whose underlined part is pronounced differently from that of the others: (1.5 pts)

1. A. lie B. height C. weight D. pie
2. A. fat B. cat C. table D. sat
3. A. hit B. tide C. sit D. did
(4 — 13) Choose the word or phrase (A,B,C or D) that best fits the blank space in each sentence:
(5 pts)
4. The children are playing in the schoolyard.

A. happy B. happiness C. happier D. happily
5. She took lesson to learn how the violin.

A. plays B. to play C. playing D. played
6. I look forward to you

A. sees B. to see C. seeing D. saw
7. He agreed the job as soon as possible.

A. starts B. starting C. to start D. to be started.

8. Ann’s birthday is February 14th.

A.in B. on C. for D. at
9. After the clothes , we can wear them to your birthday party.

A. washing B. wash C. washed D. are washed
10. The Internet has developed and become part of our everyday life.

A. increased B. increasing C. increasingly D. increases
11. How many people took part the contest?

A.in B. from C. with D. to
12. You will not pass the exam working harder.

A. unless B. if C. without D. although
13. Mr. Dung said he 35 the following week.

A. was B.is C. will be D. would be

(14 — 16) Choose the underlined word or phrase (A, B, C or D) that needs correcting: (1.5 pts)
14. I’'m disappoint that people have spoiled this area.
A B C D
15. If Ba will come here tomorrow, I’ll phone you.
A B C D
16. We saw beautifully girls there yesterday.
A B C D

(17 — 24) Choose the word or phrase (A, B, C, D) that best fits the blank space in the following
passage:(4 pts)

THE ROCKIES
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The Rockies Mountains run almost the length of North America. They start in the North —

West, but lie only on a (17) hundred miles from the center in more southern areas.
Although the Rockies are smaller (18) the Alps, they are no less wonderful. There are
many roads across the Rockies, (19) the best way to see them is to (20) by train.
You start in Vancouver, (21) most attractive of Canada’s big cities. Standing with its feet
in the water and its head in the mountains, this city allows its residents to ski on slopes just 15
minutes by car from the city (22) . Thirty passenger trains a day used to (23) off
from Vancouver on the cross-continent railway. Now there are just three a week, but the ride is still
a great adventure. You sleep on board, (24) is fun, but travel through some of the best
scenery at night.

17. A. many B. lot C. few D. couple

18. A. from B. to C. as D. than

19. A. but B. because C. unless D. since

20.  A.drive B. travel C. ride D. pass

2. A.a B. one C. the D. its

22.  A. centre B. circle C. middle D. heart

23. A.leave B. get C. take D. set

24.  A. when B. which C. who D. where

(25 — 28) Supply the correct form of the words in parentheses to complete the sentences. (2 pts)
25.Ispend my  childhood in the country. (child)

26. Have you got any _suggestion_ for our trouble? (suggest)

27.Relax in our _ comfortable _ chairs and enjoy our excellent tea and hot chocolate. (comfort)
28. Our __ flight from London to Sydney took 24 hours. (fly)

(29 — 32) Read the text and decide whether the following statements are True (T) or False (F) (2

pts)

At six o’clock yesterday evening, the River Thames burst its banks and flooded a wide
area. By nine o’clock the floods had reached the town of Dorchester. The main street was soon
under 3 feet of water. Fire engines arrived quickly to pump away the water, but heavy rain made
their jobs very difficult. The rain has finally stopped, the river level is falling and the weather
forecast is good, but the floods have caused extensive damage. Luckily, nobody was hurt or injured.

Statements T F
29. The floods hit the town of Dorchester. T
30. Fire engines had no difficulty in pumping away the water. F
31. The floods have caused enormous damage T
32. A large number of people were hurt. F
(33 — 36) Complete the second sentences in such a way that it means the same as the original

one.( 4 pts)
33. When did you last phone him?

=> How long is it since you last phoned him?

=> How long have you phoned him?

34. I’'m sorry that I didn’t go to the party last Sunday.

=> [ wish I had gone to the party last Sunday.

35. He will die soon if they don’t bring him to the hospital.
=> Unless they bring him to the hospital, he will die

36. The blue car is more expensive than the red one.

=> The red car isn’t as expensive as the blue one.
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